3.11 INCOME METHOD

3.11.1 Meaning and Composition of NI/ by Income Method

Production generates income. Production is created with the combined
efforts of factors of production. That is why, owners of these factors
have a claim on this income, which is distributed to them in the form
of compensation of employees, rent, interest and profit. According to
income method, NI is measured in terms of payments made to primary

factors of production.

Net Value Added at Factor Cost = Sum total of factor incomes paid
or NVA out by a production unit.
NDP = Sum total of factor incomes paid

FC
out by all production units located

within the domestic territory of
a country. It is shared by both
residents and non-residents.

Sum total of factor incomes paid
out to residents only.

NNP,  or NI

According to Paul Studenski, “National Income of a country can be cc%lculated
either by taking the sum of incomes paid out by the producing units or by

the income received by the factors.” s
Income method is also called Factor Payment Method or Distributed Share
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4 Net factor income from abroad.
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~ 3.11.2 Steps Involved in Calculating N/ by Income Method

The calculation of NI by income method is done in three steps. They are:

Step 1. Identification and Classification of Producing Enterprises which .
Employ Factor Inputs '

This is the first step in income method. It requires:

(@) Identifying the producing enterprises which employ the factor inputs
and

() Classifying the producing enterprises. All producing enterprises can
be classified under three heads:

() Primary Sector. It is that sector which produces goods by exploiting natural

resources like land, water, forests, mines, etc. This sector includes agricultural
and allied activities, fishing, mining and quarrying.

(i1) Secondary Sector. It is also called manufacturing sector. Enterprises in this

sector transform one type of commodity into another type of commaodity.

For example, leather g00d :
* s from lea _
cane, etc. : ther, flour from wheat, sugar from sugar

(iii) Tertiary Sector. It is also kno

produce services only. Exa
trade and commerce, etc.

v;m as service sector. Enterprises in this sector
m : . - .
ples are: bankmg, transport, communications,
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I, Income from

|. Wages and Salaries

“The income is

mixed in i Cash Ptapeﬂy

terms of (1) Basic pay ((':; E:in:w

wages, rent, (11) Dearness allowance (iii) R: alt

interest and (1) House rent allowance 2 lncom:ﬁoz,

profit (1v) Overtime allowance -Entrcprencuruhip | - *ﬁ
(V) C.C.A. (i) Profit bt

(Vi) Bonus and commissions (Profit = Dividend +

(vii) Sick tcttve ttllmt'uncc Corporation tax + o
2. Compensation in kind Corporation savings b -J'J!""
(1) Free housing b s

or undistributed
profit or retained
earnings)

(11) Medical fucilities

(111) Free uniforms

(1v) Free food

(V) Free education

(vi) Conveyance facilities
(viii) Creches for Children of employees
(Vi) Value of interest forgone on loans

to employees

3. Employer's Contribution to Social Security
Schemes such as

(1) Provident fund
(11) Life insurance
(1) Casually insurance
(1v) Pension on retitement
LIt is different from old-age pension,, which is a
ranster payment ]

Fig. 3.2 Components of Factor Income
Fig. 3.2 gives the items included in each component of factor income.
Step 3. Estimation of national income
The last step is to calculate national income.

Fig. 3.3 shows measurement of national income.

3.11.3 Precautions Involved in Estimating Nl by Income Method

Any income corresponding to which there is no tlow of goods and services
or value added, should not be included in calculation of national income.

Precautions to be taken while calculating factor incomes are as follows:

1. Transfer Payments. Transfer payments should not be included in
the national income because transfers are not a productive activity.

Examples are: scholarships, old-age pensions, gifts, etc. These are
unilateral payments. There is no flow of goods and services in an e
economy with these payments. A distinction is made between ol*; L

age pension and retirement pension. Old-age penstgttc 1 2 el
ent. Retirem imi |

R t.measure and fa]ls under the category of transfet pa;'_;f nen ireme
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of selling second-hand goog;

old house, old radji{:'ff._

s, debentures, etc., | 38 -
beoarin is that the value of their original sale has already beep
r

counted in the year of their respective purchase. Alg R{gsent there
is only a change in the ownership of the sec01.1d'- an ‘goods_ It
is important (0 note that brokerage or comimission pald to the
brokers or commission agents on the sale and purchase of such
goods, if any, is included, because new factor income 1S generated,

Corporation Tax and Income Tax. Since corpor:ation tax_ 1S a
part of profit, it should not be separately included in the national
income. Instead, profit (before deduction of corporation tax)
have to be included. It is important to note that compensation
of employees includes income tax. Thus, income tax pa.iﬁd by the
employees should not be included separately. :

Indirect Taxes. Indirect taxes (i.e., tax on production or sale of the
commodities) tend to raise the market price of goods and services.
Hence, these are included in the national income at market price.

Include Free Services Provided by the Owners of the Production
Units. Owners work in their own unit but not charge salary.
Owners provide finance but do not charge any interest. Owners do
production in their own buildings but do not charge rent. Although

they do not charge, yet the services have been performed. The
imputed value of these must be included in national income.

Windfall Gains. In national income. windfall gains, for example,

income from lotteries is not included. It is unearned income.

employees is included in estimation
on wages and salaries

| of national income, any figures
In cash or in kind should not be separately

- | | tional income, The |
i« not included in na The
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|. Compensation of Employees
+ 2. Operating Surplus
+ 3. Mixed Income

- Net Domestic Product at Factor Cost or j
Domestic Income (1 + 2 +3)
Add l+
4. Net Factor Income from Abroad
3 Net National Product at Factor Cost or
National Income (1 + 2 + 3 + 4)
Add w +
oF Depreiiation

Gross National Product at Factor Cost or -l
Gross National Income (1 + 2 + 3 + 4 + 5) e

Add Jr+ &

6. Net Indirect Taxes i B SR

Gross National Product at Market Price
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9.2 AGGREGATE DEMAND (AD)

9.2.1 Shifts in the AE Curve

The AD curve relates equilibrium GDP to the price level. Any change in the
rice level leads to a new AE curve. A rise in the price level brings downwarg

shift in the AE curve and a fall in the price level brings upward shift ip
the AE curve. Thus, there is negative or inverse relationship between price
level and AE. \This can be understood if we can trace relationship between

changes irrPprice level and consequent changes in private consumption and
net exports. It is analysed below:




ivation of Aggregate Demand (AD) Curve
:

qlt forms the basis of derivation of AD curve. The AD curve
re

L ghove ach price level, the associated level of GDP for which AE
for € .
djﬂws!wtal Output_ See Flg 9.2.
ﬂm AB =V
ired s
ol -
X
| AE,
I
| | AE,
| |
| |
| |
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: | |
, | | |
22l Real national
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income
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Fig. 9.2 : Determination of AD2



Similarly point Ez' is obtained on AD curve. IOining
these points, a downward sloping AD curve is obtaineq

Results : 1. AD curve is negatively sloping.

|

2. A change in the price level causes a shift in the AE curye
and a movement along the AD curve.

3. A rise in price level, leads to decrease (shift) in AE curve

and contraction (upward movement) along the AD curve
and vice versa.



L

9.3.2 Slope of Short-run Aggregate Supply Curve

Short-run aggregate supply curve has a positive slope. It rises from left to
right. It shows direct positive relationship between price level and GDP.
A rise in the price level leads to an increase in the value of GDP and vice

versa. The nature and slope of the short-run aggregate supply curve depends

upon the following factors:
1. Relationship between cost of production and the level of output :

In the field of production due to the law of diminishing returns, with

every 1ncreasc in output ' - |
wages of labour and other input prices constant. As output increases,
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T etween prices and the level of output :

aking firms. If the nature of market is thys ’
kers. then each firm is too small to influence
the market price, which is set Py aggregate demand al;ld ag_gl’egate
supply forces. In such a si’Fuatlon, each iglrm accepts the price apq 1
adjusts its output accordmgl):. These rﬁls are generally ca]leq 1
price takers and output ad]ustef's. \Y enever market prjce
changes, these firms react and adjust thelr- OUtPut accordingly |
Thus, price-taking firms produce more onl)./ if price rises and Jegg
if price falls because their unit cost r1ses with the level of outpy;

(b) In case of price setting firms. Presently, almost all the firm
are producing differentiated products. They are not price takers,
rather they are price setters. Over a small range of output, price
setting firms keep the price of their product constant. The price
setting firms will increase the price of the output when they
expand their production into the range where the per unit cost
1S 1Increasing.

From the above study of price-taking and price setting firms, it is clear

that actions of both kinds of firms cause the price level to rise and

the desired supply of output to be positively associated with it. As a

result, the short-run aggregate supply curve is positively sloping.
It is shown in Fig. 9.5.

Price SRAS
level




The figure shows that as price rises from OP to OP
from OY to OY, in the short-run

Result :

The slope of SARS is Iow (fairly flat) at low levels of
output and very steep gt high levels of output.

Real and Nominal wages : Wages play a vital role in making SRAS
curve positively sloped. Price-taking firms equate marginal cost to
marginal revenue in deciding the level of output. When general
price level rises, real wages fall. On the other hand, when demand
for goods increases, it leads to rise in price of output. Thus, firm's
average and marginal revenue curves shift upward. The demand for
labour rises. Labour will bargain for higher wages resulting in higher

cost of production.



dit creation refers to the power of the banks to exp ar}d deposits throy
tcl,;rf ;-oce ss of more loans, advances and investments. It is a special functigy,
of ::(fmmercial banks. Credit is created on the basis of deposits. These deposis

are of twe types—primary deposits and deriv'ative deposits. These de_POSits
are known as real deposits or primary dep081ts,- because these deposits are
made at the initiative of the depositors. There is another type of deposits
known as derivative deposits. Whenever banks lend their funds, they create
deposits in the name of their debtors. The total amount of loan is not given

in immediate cash. The customer (debtor) later on withdraws from his
account this amount by cheques. In this way, a major part of these deposits
remain with the bank. Thus, deposits create loans and loans create deposits.

The process takes place in a particular manner. Banks recejve cash deposits,

of the cash deposits as loans to their customers. The
paid in cash to them but are de

amounts of primary deposits, the

se loan amounts are not
posited in their accounts. The larger the

greater will be the expansion of credit.
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of credit creation process.

which has a number of banking units.
that Bank A receives a prumary cash deposit of X 100. Its

[et us assume
balance sheet will be:

Liabilities | Assets |
Deposits 100 | Cash 100
Total 100 | 100

The minimum cash or legal reserve requirement is assumed to be 20 per
cent. Bank A will keep cash reserve of I 20 against its liability arising out of
this deposit of X 100. It will have an excess cash reserve of ¥ 80 Sug |
extends a loan of X 80 to borrowers. Balance sheet of bank A ngp(l))see;s

follows:

Balance Sheet of Bank A
(in )

e —

Liabilities Assets 57

fI'Om Bank
ack to t}i Lllaayk? € expected to spend the same.
| NKIng system, let us say to Bank B.

in an economy. The process of 6
iS explained as follows: tﬁaﬂ‘
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"kceping cash reserve of ¥ 16, Bank B will lend the balance of ¥
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" borrowers. The balance sheet of bank B will be:

: Balance Sheet of Bank B .
(in )

b | [Awes |

Loan 64
T [w| e [ ®

Those who receive X 64 from bank B are expected to spend the amount. The

money will come back to the banking system,
balance sheet of bank C will be:
Balance Sheet of Bank B (in 3)

abiiie || Awes S

11 original deposit of X 1 |
lf? 10%) becomes additional deposits of T 80, X 64 etc.

e total will be 500 or 5 times the original

- iplier 1 | If-sustaining, continuous
: osit multiplier 1S 5.1t 1s a se g, €
A Oflitlosl:o[zeesi where on one hand deposits are multiplying and on
and comple

; nks are increasing their assets.
commercial ba
the other hand,

% - tes a multiple
: and Chrystal, “A multi bank system crea
In the Wofdsd Z;i‘;f::oney when all banks with excess reserves expand their
increase i

with each other.”

The process goes on 1

The original deposit |
If we adgd up all these deposits, th

L~ _amermination of Monev SUDDIY




output, the -
gap. This output gap can be of two typ

| When actual output is more than the potential output.

2. When potential actual output is less than the potential output.

Macroeconomic equilibrium is determined where the aggregate demand and
aggregate supply are equal to each other. At that point the level of GDP is
consistent with the given price-level and hence there is no gap between the

actual output and the potential output. But in real life, potential and actual

outputs are seldom equal. There is always disequilibrium between the two,
which affects the general price level
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Fig. 10.1 : Inflationary Gap

M

where

potential GDP Curve = It is price inelastic. It is shown by a line parallel to
y-axis. OY* is the potential level of output.

AD and SRAS curves intersect at point E giving
OP as the price level. The actual output produced

is OY.
v _ Y*= Actual output is more than potential output. Y - Y*

is the inflationary gap.

It shows that the firms are producing beyond their

“ormal capacity. They might be making labour

work overtime. This gap between the actual output

and potential output is known as inflationary gap.
‘; Under the conditions of inflationary gap, firms are

producing more than their normal capacity. Firms
are earning abnormal profit. This situation 1s also
known as profit-oriented inflation. When firms
are earning abnormal profit, workers raise their

dJemand for higher wages. This leads to cost-push
inflation.

1

Point E

concept of Recessionary Output Gap

2 Potential GDP is shown by a vertical line because it refers to




Fig. 10.2 : Recessionary Gap

B

where g
Potential GDP curve = It is price inelastic. It 1s shown by a line parallel

to y-axis. OY* is the potential level of output.

AD and SRAS curves interect at point E giving OP |

Point £ =
as the price level. The actual GDP is OY. |
Y*-Y = Potential output is more than actual output. It
shows that the firms are producing below their
normal capacity. Labour is not fully utilised. This

tions-low profit for the firms, usually
n the part of the firms to resist wageé
concesswns-that exerts domﬂ'“d

o




